
  ����� 4  
 ��	
��
���
��������� 

 ��������	���
�����
�������	�����
����
�������������������
����	��� ��������������!�"�
#���� �"$%�� 6 ��'������������(�)���������*�+!�%�������� �"�
#���� �����*� ��* 1 ()��������*��	)�(���+� ��-	�� .�%����������
�����
�������	 /	
��������	���
�����
�������	  
 ���������	
��
��������������������� 

 X  /%� �0��1	�������
/��%��2(����/�����#�� 
 S.D.  /%� �0
������������*�3������
/��%��2(����/�����#�� 
 t  /%� �0��#�*�%� %����������
�����
���"�����%��� 
 N  /%� �)��
��	40�*�
��0�� 
 * /%� �0�����)���-%���#�*�%���
(�� .05 
 ������������������ 
 ��+��*�
����(��
�������.�������*��/�����#��%4�1���/	�
 ������ �����
��2(�()��������
�����
�������	*��	)�(��(����! 
 ���	
� 1  �#��8��������*��/�����#�� 
 ���	
� 2  �
�������������������
����	��� ��������������!�"�
#���� �"$%�� 6  ��'������������(�)���������*�+!�%�������� �"�
#���� �����*� ��*1 ��8���
�/	
���(���  :���/�0���� �";� 4 (��� (����! 

1. (����4(�40���������	��� � 
2. (�����+!������
����	����*� 
3. (��������(������������������ 
4. (����#��%�� �4"��.�/	
�����)��
��
���
(
� ���	
� 3  �"�����%����
����������
�
0�������������������������-�� ��!�"�
#���� �"$%��6 ��'������������(�����(�)���������*�+!�%�������� �"�
#���� �����*� ��*1 '(�����0� %� (t-test /�� Independent)   



 
 

57 
���	
� 4  �"�����%����
�������������������
����	��� ���!�"�
#���� �"$%�� 6 '����������(�	>�/	
���(�	��  ��'������������(�����(�)���������*�+!�%�������� �"�
#���� �����*� ��* 1 '(�����0�%�  (t-test /�� Independent)   

 !������������������� 
 ���	
� 1 �����	%��
2"����	40�*�
��0�� *���� 3  /�(������	%��
2"�������������!�"�
#���� �"$%�� 6 "�
�)�"$������ � 2552 �)�/�� 
 *����� 
 �"# $%���� ���&�� ��� 156 42.4 �-�� 212 57.6 ��� 368 100 
   ���*���� 3 /�(�
0� �	40�*�
��0���";���������"�
#����� �"$%�� 6  �";������� �)��
� 156 �� ��(�";�����	
 42.4 /	
�";�����-�� �)��
� 212�� ��(�";� ����	
57.6 

 *���� 4  *���������	%��
2"�������������!�"�
#���� �"$%�� 6 "�
�)�"$������ � 2552 �)�/��*�����('������� 
 *�+��
&� $%���� ���&�� ���(�	>� 215 58.4 ���(�	�� 153 41.6 ��� 368 100.00 
   ���*���� 4 /�(�
0� �	40�*�
��0���";�����������!�"�
#���� �"$%�� 6 ��������%����������0��'����������(�	>� �)��
� 215 �� ��(�";�����	
 58.4 /	
�";���������%�����0��'������� ���(�	�� �)��
� 153 �� ��(�";� ����	
 41.6 
 



 
 

58 
���	
� 2 �
�������������������
����	��� ��������������!�"�
#���� �"$%�� 6 
�����
�� �����	'(�������0��1	��� �0
������������*�3�� /	
�"�����%���'(����%(����0�%� 
 *���� 5  /�(��0��1	��� �0��0
������������*�3��/	
�
(���
��������������������                           ��!�"�
#���� �"$%�� 6 ��'������������(�)���������*�+!�%�������� �"�
#���� �����*�        ��* 1 
 ,��� X  S.D. ��,�-����".+"��$ 
1. (����4(�40��������
����	��� � 3.52 0.555 ��� 
2. (�����+!������
����	����*� 3.50 0.553 "���	�� 
3. (��������(������������������ 3.50 0.553 "���	�� 
4. (����#��%�� �4"��.�/	
�����)��
��
���
(
� 3.53 0.560 ��� �
� 3.51 0.555 ��� 

  ���*���� 5 /�(�
0�����������!�"�
#���� �"$%�� 6 ��'������������(�)���������*�+!�%�������� �"�
#���� �����*� ��* 1"$������ � 2553 ���
�������������������
����	��� �'(�8���
����0���
(����� ( X = 3.51) ��+�������.������(��� ��
0� (���%�����0��1	�������4( �+�  (����#��%�� �4"��.�/	
�����)��
��
���
(
� ( X = 3.53) ���	����+�(����4(�40��������
����	��� � ( X = 3.52) (�����+!������
����	����*� /	
(��������(������������������ 
( X = 3.50)  
 
 
 
 
 
 
 
 
 



 
 

59 *���� 6  /�(��0��1	��� �0��0
������������*�3�� /	
�
(���
�������������������     
����	��� ��������������!�"�
#���� �"$%�� 6 (����4(�40�����
����	��� � (N=368) 
 

 ,���$/,�/0+���&��+��
�"�#.��� X  S.D. ��,�-����".+"��$ 
1. ���
����������
����C �*����������	0���D� 
2. �0
����������������#�)��
�����2"�������
�*"�
�)�
��2(� 
3. �������������>��4.�0��������)�	����� 
4. %)������������������#8��%�����(���!� 
5. %)��������������%�� 
������	0���D� 
6. �����#�)�%�� �%�������2"������������)�	����� 
7. ������������������������4.E��� ����E��� 
8. %)�����";�����)�/	
���*��%��(������%)�����";��	40� 
9. ������4.	�� .
������!)����";������D� 
10. �0
�������������	+��*�(�����2(���0������*4�	 

3.57 
3.51 
 
3.52 
3.56 
3.48 
3.53 
3.55 
3.50 
3.44 
3.50 

0.4946 
0.5623 
 

0.577 
0.542 
0.555 
0.557 
0.588 
0.552 
0.552 
0.567 

��� ��� 
 ��� ��� "���	�� ��� ��� "���	�� "���	�� "���	�� �
� 3.52 0.555 ��� 

   ���*���� 6 /�(�
0�����������!�"�
#���� �"$%�� 6 ��'������������(�)���������*�+!�%�������� �"�
#���� �����*� ��* 1 "$������ � 2553 ���
�������������������
����	��� �(����4(�40��������
����	��� � ��8���
����0���
(����� ( X = 3.52) ��+�������.�����������
0� ���%�����0��1	�������4( �+�  ��� 1 ���
����������
����C �*����������	0���D� ( X =3.57) �0
����%���0��1	���*�)��4( �+� ��� 9 ������4.	�� .
������!)����";������D� ( X =3.44) 
 

 
 
 
 
 



 
 

60 *���� 7  /�(��0��1	��� /	
�0
������������*�3�� /	
�
(���
�������������������
���                      �	��� ��������������!�"�
#���� �"$%�� 6  (�����+!������
����	����*� (N=368) 
 

 ,�����12���������+�������� X  S.D. ��,�-����".+"��$ 
1. ���
���������D�2%� 
2. �
���������D����	 
3. ��+!���%���������"�
'����*0���������������4�8������������� 
4. ��+!���%�������%)����()�����
�*���0�������2(���0�����
���4� 
5. ��+!���%����������
������
������
����������������� 
6. �0
���G���4.8����
�*�����������*	�(2" 
7. �0
��0������%�� 
�����	+���2�
%��#��*���/	
"	�(8�������"H���*��������"�
�)�
�� 
8. �";��
�����%���)�2"������������)�	���������
�*"�
�)�
��2(� 
9. 2(�����
����������
����C �*��� �����%%���)��";�*����������� 

3.48 3.52 3.52 
 3.45 
 3.53 
 3.45 3.51 
 3.52 
 
3.51 

0.552 
0.567 
0.537 
 

0.560 
 

0.547 
 

0.555 
0.547 
 

0.552 
 

0.557 

"���	�� ��� ��� 
 "���	�� 
 ��� 
 "���	�� ��� 
 ��� 
 ��� 

�
� 3.50 0.553 "���	�� 
   ���*���� 7 /�(�
0�����������!�"�
#���� �"$%�� 6 ��'������������(�)���������*�+!�%�������� �"�
#���� �����*� ��* 1 "$������ �2553 ���
�������������������
����	��� �(�����+!������
����	����*� '(�8���
����0���
(��"���	�� ( X = 3.50) ��+�������.��������� ��
0� ���%�����0��1	�������4( �+�  ��� 5 ��+!���%����������
������
������
����������������� ( X =3.53) �0
����%���0��1	���*�)��4( �+� ��� 4  ��+!���%�������%)����()�����
�*���0�������2(���0�����
���4� /	
��� 6  �0
���G���4.8����
�*�����������*	�(2" ( X = 3.45) 

 



 
 

61 
����+ 8  �0��1	��� /	
�0
������������*�3�� ����
/���
�������������������
����	 +                ��� ��������������!�"�
#���� �"$%�� 6  (��������(������������������ (N=368) 

 
 ,������$�,��$���������
&���� X  S.D. ��,�-����".+"��$ 

1. ������������������������
����4����� 
2. ������������������������
��"	�(8�� 
3. %)����������������)�	�����2(���0��#��*��� 
4. �������(�����������
�������+!���%������� 
5. ����+��%��%����������
�����+���%������� 
6. ����*�����4"��.��������0��������� 
7. (�/	 /�
�)����JK���(%�� 
��0����	���(/	
%��
#�� 

3.48 3.48 3.47 3.47 
3.49 
3.54 
3.53 

0.555 
0.547 
0.561 
0.552 
0.567 
0.537 
0.552 

"���	�� "���	�� "���	�� "���	�� "���	�� ��� ��� �
� 3.50 0.553 "���	�� 
   ���*���� 8 /�(�
0�����������!�"�
#���� �"$%�� 6 ��'������������(�)���������*�+!�%�������� �"�
#���� �����*� ��* 1 "$������ � 2553 ���
�������������������
����	��� �(��������(������������������ '(�8���
����0���
(��"���	�� ( X = 3.50) ��+�������.��������� ��
0� ���%�����0��1	�������4( �+�  ��� 6  ����*�����4"��.��������0��������� ( X =3.54) �0
����%���0��1	���*�)��4( �+���� 3  %)����������������)�	�����2(���0��#��*��� /	
��� 4 �������(�����������
�������+!���%�������  ( X = 3.47) 
 
 
 
 
 
 
 
 
 
 



 
 

62 
����+ 9 �0��1	��� /	
�0
������������*�3�� ����
/���
�������������������
����	                ��� ��������������!�"�
#���� �"$%�� 6 (����#��%�� �4"��.�/	
�����)��
��
��                  �
(
�  (N=368) 
 

 ,����3��	
� �/4����5�����+�%���&������,�� X  S.D. ��,�-����".+"��$ 
1. �#��%��������������+!�*0����������	��� � 
2. �4"��.������������������
��%������ 
3. �4"��.���D����0���8��������2(�(�/	
"	�(8�� 
4. �4"��.���D����)��
������������������� 
5. �����#�+��4"��.����2(�%�!���/	
����
	������ 
6. �4"��.��
��(��������� 
7. ������D��";���(�0
�����
����/*0	
���(��D� 
8. �#��%���)���������)�	��������0����������*0��������)�	����� 

3.52 
3.49 
3.51 
3.53 
3.54 
3.57 
3.52 3.55 

0.552 0.552 0.567 0.552 0.571 0.572 0.567 0.545 

��� "���	�� ��� ��� ��� ��� ��� ��� 
 �
� 3.53 0.560 ��� 

  ���*���� 9 /�(�
0� ����������!�"�
#���� �"$%�� 6 ��'������������(�)���������*�+!�%�������� �"�
#���� �����*� ��* 1 "$������ � 2553 ���
�������������������
����	��� � (����#��%�� �4"��.� /	
�����)��
��
���
(
� '(�8���
����0���
(����� ( X = 3.53) ��+�������.��������� ��
0� ���%�����0��1	�������4( �+�  ��� 6  �4"��.��
��(��������� ( X =3.57) �0
����%���0��1	���*�)��4( �+���� 2  �4"��.������������������
��%������  ( X = 3.49)   
 
 
 
 
 
 



 
 

63 
���	
� 3  �	�"�����%����
����������
�
0�������������������������-��  ��!�"�
#���� �"$%�� 6 ��'������������(�����(�)���������*�+!�%�������� �"�
#���� �����*�  ��*1  
 ����+ 10  /�(��	����"�����%����
�������������������
����	��� ������������ 

  ��!�"�
#���� �"$%�� 6 �)�/��*����� 

 
 

 ���*���� 10 /�(�
0� �
�������������������
����	��� ���������������������������-�� ��!�"�
#���� �"$%�� 6 ��'������������(�)���������*�+!�%�������� �"�
#���� �����*� ��* 1 "�
�)�"$������ � 2553 2�0/*�*0�����  
 
 
 
 
 
 
 
 
 
 


�& ���+ 	
� ,��� 
X  S.D. 

X  S.D. t Sig 
1 (����4(�40��������
����	��� � 3.53 0.145 3.51 0.188 1.167 0.244 
2 (�����+!������
����	����*� 3.53 0.500 3.57 0.576 -0.591 0.555 
3 (��������(������������������ 3.49 0.186 3.51 0.193 -1.153 0.250 
4 (����#��%�� �4"��.�/	
�����)��
��
���
(
� 3.55 0.172 3.52 0.213 1.508 0.132 
 �
� 3.52 0.160 3.52 0.177 -0.09 0.928 �0� t (0.05 , 368 = 1.960) * ����)���-%���
(�� 0.05 
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 ���	
� 4  �"�����%����
�������������������
����	��� ���!�"�
#���� �"$%�� 6 '����������(�	>�/	
���(�	��  ��'������������(�����(�)���������*�+!�%�������� �"�
#���� �����*� ��*1 
 *���� 11 /�(��	�"�����%����
�������������������
����	��� ��������������!�                 "�
#���� �"$%�� 6 �)�/��*�����('������� 

 ���,��6� ���,���+ 	
� ,��� 
X  S.D. 

X  S.D. t Sig 
1 (����4(�40��������
����	��� � 3.52 0.164 3.51 0.182 0.202 0.840 
2 (�����+!������
����	����*� 3.55 0.535 3.56 0.561 -0.116 0.907 
3 (��������(������������������ 3.50 0.188 3.51 0.194 -0.422 0.673 
4 (����#��%�� �4"��.�/	
�����)��
� �
���
(
� 3.53 0.207 3.53 0.183 -0.033 0.974 
 �
� 3.52 0.163 3.53 0.179 -0.165 0.869* �0� t (0.05 , 368 = 1.960) * ����)���-%���
(�� 0.05 

 
 ���*���� 11 /�(�
0� �
�������������������
����	��� ��������������!�"�
#� ��� �"$%�� 6 ��'����������(�	>����'����������(�	�� �����(�)���������*�+!�%�������� �"�
#� ��� �����*� ��* 1 "�
�)�"$������ � 2553 2�0/*�*0�����  
 
 
 
 
 
 
 
 

 


